


10

GRLC

10

V=0.

033 4

. 003

. 003




B L H
( _In ( _In ( _In (_m3
0.02 0.02 0.30 0. 020 1
0 .04 0 .02 0 .50 0. 000 4
0 .03 0.31 0.30 0. 020 1
0 .03 0 .03 0 .30 0. 070 2
0 .07 0 .03 0 .50 0. 0510
0 .01 0 .01 0 .30 0. 030 0
0.02 0 .03 0.30 0. 0801
0 .01 0 .01 0 .30 0. 030 0
0.01 3.02 0.30 0. 060 9
Al 0 .01 0 .02 0 .50 0. 000 1
Al 0.04 0.31 0.30 0. 060 1
A2 0 .03 0 .02 0 .30 0. 080 1

0. 003 6
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BL

(0. 08Kk

BL

kg




N 1, @5 gBm

W L M
(_Im m ( _Kg
0. 00050 .07 0. 04
0. 00050 .06 0. B3
1.03 0.867

H x L x

N 1, 080kgB8m B 50 mm H 3 mm

B L W
( m k)g
0 .50 .07 0. 97
0 .50 . 06 0. 35
.03 0. 33

H x L x
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. 5kglm3.200m = 6 2 0 5kg

(Al )
( )

. 170kg/xm225.200m = 4 2 0 5kg
( )

. 120k @2 22 0m = 1 5 0 Okg
( )

. 110k @2 B22 0m = 135 7kg

M
1]

13 35. 7kg
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t =m0 m m 5 05.

t =m0m n2 570

n3 2.78

24-1H”-25 n3 0 .08
n2 5 .40

ES( ) m 241
M2 32
SD3483, D1 kg 119
70 0 241
t:5n®mAS()13 n2 200
t:SnQrsn()ls ne 200
M-30,nl ®MB0m 200




Al
A2

Al
A2

57

Al
Al
A2
A2

Al
Al
Al
A2
A2
A2

Al
A2

Al
A2

x 0

( t=p0mm

11.8311.
12.8614.
( t 955 ¢cm
2 55.
3 18.
.50
(24-1%2-25H
1/x2( 1 0 4 9 +x100. . 8985. 80)

1.
1/x2( 11. 05 3 +x101. . 8103. 50)
1/x2( 13 . 65 7 +x103.. 8403. 80)
1/x2( 13 . 669 +x103..8982. 80)

(11. 049 +x100.509 5 8 )
(0. 381 +x00..802 6 )
(11.053+x101.501 3 1)
(13. 657 +x103.504 3 8)
(13. 669 +x103.500 2 4 )
(0. 435+x00..602 1)

( ES ))

11.94
13.765

W
B D
NN
W
> ol ]
NN

231l m
274 m
505 m
255 n2
318. n?
573. n2
2.78 n8
0. 239n8
0. 66 n8
0. 30n8
0. 24n8
0. 80n8

OR R RO

. 00
. 04
. 20
. 85
. 88
. 85

.40

BRRRRRRR

.90 4m
.76 5m

N[
Aw

.67 0m

Wl
Nl >



8. (SD345, D13

Al
HL 0. 0x4154x40 . 9 9 Mk g/ = 6 4
H21- 10. 84x90. 99 mk g/ = 1 08.
H22- 10. ¥5x80. 99 mk g/ = 1 07.
H23- 10. 8%x30. 99 mk g/ = 1 08.
H24- 10. 83x10. 99 mk g/ = 1 09.
A2
HL 0. 0x4157x80 . 9 9 mk g/ = 80
H31- (8. 000+x51x0599 kg/ = 1 39.
H32- (8. 000+x61x06 29 thk g/ = 1 40.
H33- (8. 000+x51x02 929 Bhk g/ = 1 37.
H34- (8. 000+x51x0999 lhk g/ = 1 37.
> = 119.
9 ( 70 )
Al 11. 80 9 0x011000 = 1150
A2 13. 88 7 0x011000 = 1366
> = 241
10 ( As(13),t=50mm)
Al 89 = 89 n
A2 119 = 119. n2
> = 208 n2
10 ( As(13),t=50mm)
Al 92 = 92 n
A2 1 08. = 108 n2
> = 2 00. n2
11 ( , t =3)0 mm
Al 89 = 89 n
A2 119 = 119. n2
> = 208 n2
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10

1 0A0 2

HL kg 11956

10

¢1l3 m 16

M 1x025 8

SSao0 2
SS400x 41 22 | 12 |1
JI'S H 86641 HIDZ5 0. 01

pl4 8




N=1 A1l
N=1 A2
H1
122k gnix 0 .04
122k gnix 0 .55
Py 1 3

l= 0.08 X 2

M 1x025

N 4 x 2

h=40cm 1
h=55cm 1
> 2
4 .88 kg
6 .17 kg
> 119 Xg
1.06 m
)
8



jnm ( kg
1
PL|] 10x 45 668 1 3.3 21| 21|SS00
PL| 10x 6 48 1 4.17] 19| 19|SSa@o0
PL| 10x 6 20 1 4.17] 09| 09|SSa@o0
BW| M2 7 G 0.0 05|SS@0
5 4
2 1 08.
Ssaep PL |t =8 4 2[kg
Ssap P t{ 6 5 6|kg
SSap BW | 40 1kg
(J1I'S H 8641
HDZ5 = 98

pl4 = 8
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. 88

.40

.40

.40

. 76

6cm

3cm




0. 18MmM2
0. 08m2
0. 88 Mm250
0. 88 Mm250
0. £¥6. 868
0.88. 85

(1
(2

(1

(0.60+0. 40+x00..3833+0. 48)

(2

(0. 50+x02xB0P5

o

o

o

.40

.40

.20

.20

B[R

o

o

.40

.72

3|3

o

. 76

B[R
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2 27.

2 27.

2 27.

2 27.




® H 1
(I (. m JC m2J)] ( ( )
Gr-C-2BO51314 O0.57 0. 96 6 1.16
Gr-C-2BO 51314 O0.57 0. 96 1.16
3.22
L 1m
(. m [ m2/fm( )
Gr - C- 2|B-9500 0 .52 2 .52
2 .52
L 1m
(. m ] ( m2/Im( )
Gr - C- 2|B 9503 0 .48 7 .18
Gr-C-2B14902 0 .48 9 .14
1722
.22 + 2 .52 + 1722 = 2296 n2
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Gr-C-2B-pFm 100
m -
t 0 .60
Gr-C-2B-p/Fm 100
M 1x225 1
M 1x635 8

M2x01 8 1




L w
( m | ko/im( Kg
Gr-C-2B-5005] 6.20 6312
1005 6312
0 .00 0 .00
6312
L
(_n
Gr-C-2B-5005
M 1x225 1
1005
1
M 1x635 8
M2x01 8 1
8
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Sv-1

.92




0x.12 9 0.9 m
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